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1) Refer to the sketches of power functions below (in the form Y = kx p) to answer questr
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PLEASE READ THIS: To get credit for each question below you must list all of the graphs above
which satisfy the question. Write “#one” if none of the graphs satisfy the question.
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=" X a. Write a possible equation for function #4 above? '
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JQ b. Which function(s) are concave down for x < ¢ and concave up for x > 0?
L{ ' ¢. Which function(s) are concave down for their entire domain?
‘ , (o d. Which function(s) are increasing for their entire domain?

F\M . Which function(s) are concave down and decreasing for their entire domain?

\ ] 4 \ ?' f. Which function(s) have asymptotes of x = 0 and y=0?

9~ ! 3 ) g} Q’ g. Which function(s) have a domain of all reals?

g2 s o " + h. In which function(s) is the value of the exponent 0 < p<l1?

[ ] 3\-1 3 ) L} ;:’1_ In which function(s) is the value of the constant k negative?

l }L\\? j- In which function(s) is the end behavior as x->©,y->0 andasx > —w,y 0.
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k. In which function(s) is the end behavior as x > @,y —>»—0 and asx — —w, y —» o,
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2) Find the value P in the power function V = kx given f(2)=

=0.75 and £(5)=-0.048
(You must show algebraic work to get full credit for this proble

m.)
— ,+5= k(s.)p Hj‘%—- - “"'._o._g_:_‘a_\..
—,048 = (s) ¥ .
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3) A power function in the form V = kx? » passes through point [53 g) (35

Find the value of £ given that P = 2, (Show work.)
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5) Find the_ domain of’ lj(x)

%O‘) = 2~ 3-Ax




